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“Thermal Physics” Fall 2003

Quiz 8 (5 points) 31 October 2003 Last 4 (of UF ID): K&/
Professor Mark W. Meisel : [

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

Three designs are proposed for a heat engine with wil] operate between thermal reservoirs at tem-
peratures of 450 K and 300 K. To produce 1 kJ of work output, design 1 claims to require a heat

input per cycle of 0.2 kcal; design 2, 0.6 kcal; and design 3, 0.8 kcal. Which design would you
choose and why? Recall that 1 J=2.39 x 10-4 kcal.
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